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.-—-ggizmpt FllVE Questions in all, selecting at least

o bquesnnn from each section. The fifth yuestiorn

Y be attempted from any section. All questions
carry equal marks,

SECTION—A

I. F}::]ISSKM; Pgarson‘s Coefficient of Correlation betweer
::-m xpenses of the following ten firms :
Firms Sales Expenses
(in ‘000 units) (in ‘000 Rs.)
1 50 o
2 50 13
3 55 14
4 60 16
7 65 15
g 60 14
9 60 13
10 | 50 - &
20
(Conmtd.)
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fmi You are given the h’"“"‘-’ing )

.

X Joh aullﬁf-at‘liﬁn I:C\'cl .
» = Working conditions ’ x" = Sala:y,
Co-efficient of correlart; o

10n between X, and X, =0.70

Co-efficient of correlation bepy een X,
Co-cfficient of correlation between X “‘d;‘: =040
X WX =061
Calculate the three ¢q effici :
. -efficient .
correlation. ats of multiple

(b) (i) Define Correlation, Ex

plain the properti
of the Co-efficient of Con-elation? perties

(ii) What is Rank Correlation ? How is it different
from Karl Pearson’s Correlation ?
10,10
SECTION—B

3. (a) From the following data of the age of husband

and the age of wife, form two regression lines :

Husband’s age Wife’s age
36 29
23 18
27 20
28 22
28 27
29 21
30 29
31 27
33 29
35 _ 28
7215(2524)/IK-1205 ’ 2 : (Contd.)

https://www.gnduonline.com


https://www.gnduonline.com/

‘M P TR e T L FCTY T L s I
Yogw N s \ e YN W wiet powt do e e

M Oasans TS, o T e

;.\l._ e, e,
Mo niCeNOQE Jueiilorenis Wil ST
A Mraosads, b, 1

e IR NEwme's nenod of MNemnEn.

dae caghocadnces oF iR 3F @R ¥ 27 TOm T

Ol iomiiing JEEE -

b N

AR &

MR it QMY S e =T 7T T . ML
Wi hat (& THREAN BT * Ehpchdaie e oIS 11
TrRETEAN BN i), 1

BTN
P SRUS Qf JsndEEs ape cumpeung W I
PRETTRONS. Ly Roard of DI of 3 Janpes
e oot Dt He St and s SSiY
2 3ind G TPt e, [F TR 20N

Gonliung 3 R

: k
whill e ¥ -
o wahs, B poodiEy L W
coutact AR N e ooCTEINVINLES
P W &

B

NS
" \_\' = .‘

YR RN L WS
L] 0 T, L

e

Y T gl

https:ﬁwww-gnduonline-com

b}

(a)

(b)

(a)
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Whait 18 Kegression 7 Explain the regression of
Y on X and X on Y At what poimt do the two
repression lines intersect 7 Also, derive the relation

of two regression coefficients with correlation
coefficient. 10,10
Estimate by Newton’s method of interpolation,
the expectation of life at age of 22 from the
following data :

Age 10
—— U S ! 1|r

Expectation of | ] | l

b | |

life (in years) |35.4|32.2|29.1 \26.0\ 23.1]20.4 |

What is Interpolation ? Elucidate the methods of

Interpolation. 10,10
SECTION—C

Two sets of candidates are competing for the
positions on the Board of Directors of a company.
The probabilities that the first and second sets
will win are 0.6 and 0.4 respectively. If the first
set wins, the probability of introducing a new
product is 0.8 and the corresponding probability
if the second set wins is 0.3. What is the probability
that the product will be introduced ?

3 (Contd.}
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that a person IOPPRing at a petrog

.\h.lr'll‘tl.‘
(b) Thepl his tyres checked i 0,12 The

(b)

1 get )
pump ™ at he will get has o0il checked ix

» behity th |
pr :‘M the probability that he will get both
0.2

checked is 0.07.
What is the probability that a person stopping

at a petrol pump will have neither his tyres
checked ?

i)

nor oil

(ii) Find the probabili
oil checked wil
checked. https://www.gnduoniing.com

While conducting a population Survey of a city,

noticed that 40% of the male

f the trend continues,

f a random

ty that a person who has
1 also have his tyres
10,10

the enumerator
population were illiterate. I
work out the probability that out ©
sample of 2,00 000 males population, the number

» » ] d
of illiterates will be (i) less than 75,000 an

(i) more than 82,000.
manufactured by

0 the electric bulbs B
If 2% of T the probability

ABC Company are defective,
that in a sample of 200 bulbs, (1) less than

i 11 e *han 3 bulbs
2 bulbs are defective and (i1) mor e

are defective.

(Contd.)
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SECTION b

(a) Define Sample, Discuss the sampling procedure
in detail.

(b) What is Sampling ? is sampling always better
than complete cnumeration ? Justify your answer

with the help of suitable examples. 10,10

What do you understand by Sampling ? Elaborate varous
methods of Probability Sampling. °. 20
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